0001831548618999

(0O HEXE 06—6—>>

2014 £ 5 3 [

3| ROFIZEZ L.

L sinZorpsmy oz & & e,

(3) fozsin‘l:ccoszxdxa)ﬁéi%ﬂw)ct.

(1) (32) = sin'" X cos® (Sin"X + cos’z)
- %zl'(ZSFnZ(osi)z |
g 37/ sin 2 X
= (32) ®

7
_Z . 52 % -
(2) I—;*Tiﬁ(&-z %_’0 ,a’)! AT

o
(Z,@)-’-‘ /z ,Y/_nq(;“f)cosl(ff"f) 6‘0[2‘)
2

o 42‘-;?:122“(‘0/?)

o {z £os
z

x
= II o5t sin't At

0
: (512) B
79
J/ x 3 E o2
G) (1 d7 fz sint2 cosX + costx X AA = j Q/.SH? 2X dx
0 [

1]

(z)ai"/ :Z-( . 2 / :ZZ( /—cos4X
, 2[0 Sin"Z cos X o2 17]0 ——2——=—q’x

7C 4 o A
7 Fi / 5’;" Z 2 — —
f: 5[:/:4): cos X 2 = /2 [2-’ T Ty ]o T 22

V4

(1) %=X sin zcos? x + cost xsin®x = i
22 :L":%——té:?b“(:é:é:ck‘), foz sin’ircoszxds,'":‘ﬁj2 costsin®tdt LY DI & & Rt




